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type Func func(ctx context. Context)
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import "github. com gogf/gf/v2/ os/grpool"



func Add(ctx context.Context, f Func) error
func AddW t hRecover (ctx context. Context, userFunc Func, recoverFunc
Recover Func) error
func Jobs() int
func Size() int
func New(linmit ...int) *Pool
func (p *Pool) Add(ctx context.Context, f Func) error
func (p *Pool) AddWthRecover(ctx context.Context, userFunc Func,
recover Func Recover Func) error
func (p *Pool) Cap() int
func (p *Pool) O ose()
func (p *Pool) |sC osed() bool
func (p *Pool) Jobs() int
func (p *Pool) Size() int
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package main

inmport (
"context"
"fntt
"gi t hub. conf gogf/ gf/v2/ os/ gct x"
"gi t hub. cont gogf/ gf / v2/ os/ gr pool "
"gi t hub. conf gogf/ gf/v2/ os/gtiner"
"time"

)

var (
ctx = gctx. New()
)

func job(ctx context. Context) {
time. Sl eep(1*time. Second)

}
func main() {
pool : = grpool.New 100)
for i :=0; i < 1000; i++ {
pool . Add( ct x, j ob)
}
fm.Println("worker:", pool.Size())

fm.Println(" jobs:", pool.Jobs())

gtimer. Setlnterval (ctx,time. Second, func(ctx context.Context) {
fm.Println("worker:", pool.Size())
fm.Println(" jobs:", pool.Jobs())
fm.Println()

b

select {}

sl eep lgoroutinegti ne. Set | nt er val 1gorouti ne



package nain

import (
"context"
"t
"gi t hub. conf gogf/ gf/v2/ os/ gct x"
"gi t hub. cont gogf/ gf/v2/ os/ grpool "
"sync"

)

var (

ctx = gctx. New()
)

func main() {
wg : = sync. Wi tGoup{}
for i :=0; i < 10; i++ {
wg. Add( 1)
gr pool . Add(ctx, func(ctx context. Context) {
frt.Println(i)
wg. Done()
}

wg. Vi t ()
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1)go

package nain

import (
"t
"sync"

func main() {
wg : = sync. Wit G oup{}
for i :=0; i < 10; i++ {
wg. Add( 1)
go func(v int){
frt. Println(v)
wg. Done()
)

wg. Vi t ()
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package main

inmport (
"context"
"t
"gi t hub. conf gogf/ gf/v2/ os/ gct x"
"gi t hub. conl gogf/ gf / v2/ os/ gr pool "
"sync"

)

var (

ctx = gctx. New()
)

func main() {
wg : = sync. Wi tGoup{}
for i :=0; i < 10; i++ {
wg. Add( 1)
Vo=
grpool . Add(ctx, func(ctx context.Context) {
fmt.Println(v)
wg. Done()
b

wg. Vi t ()
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grpool func(ctx context. Context)ictxi
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package main

inmport (
"context"
"t
"gi thub. coml gogf/gf/v2/ container/garray"
"gi t hub. conf gogf/ gf / v2/ os/ gct x"
"gi t hub. cont gogf/ gf/ v2/ os/ gr pool "

"time"
)
var (

ctx = gctx. New()
)

func main() {

array := garray. NewArray(true)

grpool . AddW t hRecover (ctx, func(ctx context. Context) {
array. Append(1)
array. Append( 2)
pani c(1)

}, func(err error) {
array. Append(1)

}

gr pool . AddW t hRecover (ct x, func(ctx context. Context) {
pani c(1)
array. Append(1)

b

time. Sl eep(500 * tine.MIIisecond)
fmt.Print(array.Len())

gr pool gorouti ne
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package nmin

import (
"cont ext"
"fntt
" gi t hub. cont gogf/ gf / v2/ os/ gct x"
"gi t hub. conl gogf/ gf / v2/ os/ gr pool "
"gi t hub. conf gogf/ gf/v2/ os/gtinme"
"sync"
"tinme"

)

var (

ctx = gctx. New()

)

func main() {
start := gtime. TimestanpM | 1i ()
wg : = sync. Wit G oup{}
for i :=0; i < 10000000; i++ {

wg. Add( 1)

gr pool . Add(ct x, func(ctx context. Context) {
time. Sleep(time.M11isecond)
wg. Done()
b
}
wg. Vi t ()
fm.Println(grpool.Size())
fmt.PrintIn("time spent:", gtime.TinestanpM11i() - start)
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package nain

inmport (
"t
"gi t hub. conf gogf/ gf/v2/os/ gtine"
"sync"
"time"

func main() {
start := gtinme. TinestanmpM11i ()
wg = sync. Wi tGoup{}

for i :=0; i < 10000000; i++ {
wg. Add( 1)
go func() {
tine.Sleep(tine.MI1isecond)
wg. Done()
10
}
wg. Wai t ()
fm.Println("tinme spent:", gtinme.TinestanpMIli() - start)
}
3)
3
gr pool
goroutine count: 847313
menory spent: ~2.1 G
time spent: 37792 ns
goroutine

goroutine count: 1000W
menory spent: ~4.8 GB
time spent: 27085 ns

gor out i neCPU
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